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6A 18 88 9A 108 1A 128 18 2R 3R 48 58 68
= PIN R64E R74E
7 6A 7R 8H 9A 10A 1A 128 1A 2R 3A 48 58 6H
3HAREDLLE -29 29 0.0 22 13.0 94 0.7 -13.6 -12.2 14 79 10.2 13.0
BREOEERY -10.2 -10.9 -11.7 -5.9 -10.2 -6.5 -5.8 -6.5 =51 -43 -2.2 -4.4 -29
ShAKDREL -3.6 -7.2 -1.4 3.6 -10.9 -8.6 -29 9.3 3.6 0.0 29 44 0.7

1/3



2. HIE%E

1) DIf#E
40
—e— 3h /%I 20
DB
o A A
- BEOE [N P
£y T L
-20
—A&- 3HB%ED
RiEL
-40
R64F R74E
68 18 8h 98 10AR 118 12R 18 2R 3A 4R 5A 6A
X N R64E R74&
7 68 7R 8H 9A 10A8 1A 12R 1A 28 38 47 58 6A
3h ARE DL -5.2 5.1 -9.1 0.0 16.9 16.9 78  -104 -1 26 52 1.3 52
RENESEY -53 -9.1 -7.9 -41 -1.3 39 39 -1.3 1.3 -26 0.0 -13 -26
3HAKDREL 52 -103 52 6.8 -9.1 -39 -26 52 0.0 -1.3 39 7.8 1.3
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68 18 8h 98 108 18 128 18 2R 38 48 58 6A
P RO% R7%E
68 7R 8H 98 10A8 1A 12R 1A 28 38 47 58 6A
3HARTE DB -125 250 -125 -125 125  -125 00 -125 0.0 375 0.0 375 -125
BEDEERBRY 0.0 0.0 0.0 0.0 00 -125 -125 -125 -125 0.0 125 0.0 0.0
3HAKRDREL 25.0 0.0 25.0 125  -250 0.0 125 0.0 125 0.0 125 0.0 125
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R64E R74E
68 18 8A 98 108 118 12R 1A 2R 3R 4R 5A 6A
X 5 R64E R7E
68 78 8h 98 108 118 128 18 2R 3A 48 5H 68
3H ARTE DI -300 -350 -150 -19.0 -5.0 0.0 48 -48 -5.0 -50 -100 0.0 15.8
REDEERY -200 -150 -200 -238 -300 -300 -238 -143  -100 -50 -100  -11.1 -5.3
3HA%XDREL -400 -100 -150 -48 250 -250 -190 -95 -150 -150 -150 -167 -158
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R64E R74E
68 7R 8H 9A 10A 1A 128 18 28 38 48 5H 64
P RO% R7%E
68 718 8H 9A 108 1A 128 18 2R 3R 48 5H 68
3N ARE DL 21.2 15.2 33.3 235 15.2 29 -188 -265 -303 -5.7 257 29.4 353
REDEERY -182  -152  -182 00 -212 -147 -156 -118 -152 -8.6 -5.7 -8.8 -2.9
BhARDREL -9.1 00 -152 0.0 -30 -118 3.1 324 21.2 114 8.6 8.8 59
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